
horsepower
p < 0.001

1

≤ 2.041 > 2.041
cylinders
p < 0.001

2

≤ 0.602 > 0.602
horsepower
p < 0.001

3

≤ 1.954 > 1.954
horsepower
p = 0.026

4

≤ 1.785 > 1.785

Node 5 (n = 30)

[1
.1

88
,1

.4
0]

[0
.9

03
,1

.1
9)

0
0.6

weight
p < 0.001

6

≤ 3.377> 3.377
engine.displacement

p < 0.001

7

≤ 1.991 > 1.991
horsepower
p = 0.018

8

≤ 1.845 > 1.845
weight

p = 0.028

9

≤ 3.287> 3.287

Node 10 (n = 15)

[1
.1

88
,1

.4
0]

[0
.9

03
,1

.1
9)

0
0.6

Node 11 (n = 53)

[1
.1

88
,1

.4
0]

[0
.9

03
,1

.1
9)

0
0.6

weight
p = 0.011

12

≤ 3.315> 3.315

Node 13 (n = 10)

[1
.1

88
,1

.4
0]

[0
.9

03
,1

.1
9)

0
0.6

Node 14 (n = 32)

[1
.1

88
,1

.4
0]

[0
.9

03
,1

.1
9)

0
0.6

Node 15 (n = 47)

[1
.1

88
,1

.4
0]

[0
.9

03
,1

.1
9)

0
0.6

Node 16 (n = 75)

[1
.1

88
,1

.4
0]

[0
.9

03
,1

.1
9)

0
0.6

Node 17 (n = 53)

[1
.1

88
,1

.4
0]

[0
.9

03
,1

.1
9)

0
0.6

weight
p < 0.001

18

≤ 3.449> 3.449

Node 19 (n = 13)

[1
.1

88
,1

.4
0]

[0
.9

03
,1

.1
9)

0
0.6

Node 20 (n = 112)

[1
.1

88
,1

.4
0]

[0
.9

03
,1

.1
9)

0
0.6

engine.displacement
p < 0.001

21

≤ 2.484> 2.484
weight

p = 0.009

22

≤ 3.625> 3.625

Node 23 (n = 58)

[1
.1

88
,1

.4
0]

[0
.9

03
,1

.1
9)

0
0.6

Node 24 (n = 9)

[1
.1

88
,1

.4
0]

[0
.9

03
,1

.1
9)

0
0.6

Node 25 (n = 125)

[1
.1

88
,1

.4
0]

[0
.9

03
,1

.1
9)

0
0.6


